N & o & AF &2 H Ml A
20118 =04 LB RS ~ RAS
SN RUE
I QME FOMBAHA BS U8
ol PAS FUMEXR (a2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
S 391,216 384, 161 7,085
fas FUHIMHIA 5 25 190,700 181,061 9,639
Fas FUHSIA 190,700 181,061 9,639
fas FUNXMEHSEZHI 15,000 15,000 0
201 B3| 15,000 15,000 0
01 AtE222lHl 15,000 15,000 0
OFXXIHE 22| 15,000,000& 14! 15,000
Fas FUFHAEH 98,580 91,020 7,560
301 et as 98,580 91,020 7,560
05 S-cl-eEEs243 97,580 90,020 7,560
Oos% =¥ 200,000& #2621« 12& 62,400
OS&aM= 200, 0003 #2621 %23] 10,400
OSE 3og&aa&== 20,0003 262!+x23]«12& 12,480
Ogr& &=l 50,000& 24621 12,300
10 HALAHIZ &3 1,000 1,000 0
Ouns 2 dAs FAXL AHIEL
1,000,000& * 14! 1,000
Fas FA2H2 17,000 11,381 5,619
201 B3| 12,000 11,381 619
02 =234l 12,000 11,381 619
OZ232= ¥ HMAl 10,000,000& 14! 10,000
oozl 1,000,000& * 14! 1,000
OAl & &HI=XIbl 1,000,000& *14! 1,000
401 Al&HI YL =ROHYI 5,000 0 5,000
01 Al&H| 5,000 0 5,000
OBAS4 L 29 20t HH|SAHB2M)
5,000, 000& =14 5,000
fas HIXA 56,120 57,660 A 1,540
201 Let2d| 22,500 22,500 0
01 AtE22lH] 14,000 14,000 0
Oget=g| 11,000,000& * 14! 11,000
Oo2g=¢ 2,000, 000& 14 2,000
Ooxgegxs 1,000, 0003 =14 1,000
02 33234l 8,500 8,500 0
OoRER= 8,500, 000& 14 8,500
202 O4Hl 25,920 23,760 2,160
01 =LA b 25,920 23,760 2,160
OJl2gR==80tl(122) 2,160,000 x12& 25,920
405 KH&HFESHI 7,700 11,400 A3,700




S TR INE
B DHS FOMHAHA BE 23
Crol: QAE FUMEBXE (crol:xigl)
I:I}\_I pS| II-I l:|-O|( |j;”) }\.HCI}\I,O-I A2 AFOH @Lj_l‘:_ HleDF
. * S 2 ° - = o . (L] 0:” /‘ll_% Lsa
01 XL SSFSHI 7,700 11,400 A 3,700
OPC 1,400,000 *4CH 5,600
OMBO(MDEEMZE2IE)MZ 700,000 *3H 2,100
Fas AZ2el XN 4,000 6,000 A2,000
405 KHAHFESHI 4,000 6,000 22,000
01 ML ESHSHI 4,000 6,000 22,000
OkeraAazae|d| 2,000, 0002 *2J4 2 4,000
Sfas A EHI 155,129 155,553 N424
PAUS AR F0=AANS 155,129 155,553 N424
PAHS FOUSJAG 150,540 151,080 A540
401 AIEHIZ 2 150,540 151,080 A540
01 Al&t| 150,000 150,000 0
ORA3E ditel =22 & L T22(140m)
47,000,000 » 14 47,000
OR44E XY B2ACIERZE L =42(15
Om) 50,000, 0002 *14] 50,000
ORA2E & FHEL L R235 dotelot
=2 F | (60m) 15,000,000 * 14! 15,000
OR43E 0IE0S sZEH(110m)
17,000,000& 14! 17,000
ORABE T2 FH[(120m) 21,000,000 14 21,000
03 Al 20| 540 1,080 A540
OAN &SI 150,000, 000& *0.72/100%0.5 540
SHs Tz EY| 4,589 4,473 116
101 el4H| 4,589 4,473 116
04 JIZtHIZ22HEE > 4,589 4,473 116
O=Z(M&)edFl 43,7003 721 x15¢ 4,589
Fas HoF2IEHI 45,387 47,547 A2,160
Ffas A2 29,083 39,203 210,120
Fas AUE2FH| 29,083 39,203 210,120
101 el HH| 29,083 29,083 0
01 2 29,083 29,083 0
OAZte 22 7,4573 1321 x300A] 2+ 29,083
A= JI=2Z| 16,304 8,344 7,960
fas Jl=3Hl 16,304 8,344 7,960
201 B3| 4,184 4,184 0
01 AtE222/Hl 4,184 4,184 0
Oget=gH| 2,000,000 =14 2,000
O=&tl 7,000 x1321%23| x 12 2,184
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